H & 0l & AHS B Ml A

M o - 01E 51 88
el Aet Ot =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JEE=SX1 81,477,083 79,342,373 2,134,710
= 38,604,939
[ 692,711
Il 3,385,012
Al 27,148,362
- 11,586,059
g - JE =X 58 12,092,349 11,245,210 847,139
= 3,508,715
Il 3,116,746
Al 3,723,162
- 1,748,726
228 e |4 4,570,070 2,784,6% 1,785,414
= 2,265,355
Jl 519,280
Al 1,367,109
T 418,326
Hgdsd 28,210 27,591 619
201 er23| 7,810 7,191 619
01 At2teltl 7,810 7,191 619
ONESNSN 2= M
800,000 800
OdEgedt dRu= 4,000,000 4,000
OdEIardIAS 2dqH =&
50,000 *10E =12 500
O4UH=E WS A
800,000 22 1,600
OUSASHE A&
70,0002 713 490
OF4600 Xt HI= 70,0003 65 420
202 O4d| 400 400
01 2LHoIH 400 400
o220l 400,000 400
307 el2to| & 20,000 20,000
11 AMEISXAIEEXS 20,000 20,000
OddESF2I I8 A 10,000,000 10,000
OWEXNEX /3S 10,000,000& 10,000
HEEH 2sX3 6,951 8,270 21,319
203 g4l 611 770 A159
03 A=A =] 611 770 A159
OFLAIHFH 611,000 611
307 elztol & 6,340 7,500 AT1,160
02 2B YAIHE X 6,340 7,500 1,160
OW & HASALA e 0tE U=l
6,340,000& 6,340




2A: JIE=EX
M o4 - JIF 21X s
el Aet Ot =4 EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Ot0I=sSXI& 3,236,222 1,906,563 1,329,659
= 2,265,355
Al 970,867
307 212+01™ 3,236,222 1,906,563 1,329,659
= 2,265,355
Al 970,867
10 Al S XA EEHE2IHIE X 262,800 196,324 66,476
OOIESXIEAY 22|
262,800,000& 262,800
= 183,960
Al 78,840
11 AR SXAMEER 2,973,422 1,710,239 1,263,183
OOHIESSXIJA ALY AtHI
2,973,422,000& 2,973,422
= 2,081,395
Al 8R,027
ool=E=s FIHA 140,448 106,872 33,576
Al 70,224
- 70,224
307 QIZt01 A 140,448 106,872 33,576
Al 70,224
- 70,224
11 AL SXAMEEER 140,448 106,872 33,576
OOLOIE L0l HZ2eldl XA
5,280,000& 5,280
Al 2,640
- 2,640
OO0t0l=20l W&l X
135, 168,000& 135,168
Al 67,584
- 67,584
Ct=g=sMEe 29 25,000 12,000 13,000
201 LB-2AY| 13,000 0 13,000
02 324l 13,000 0 13,000
Ooti2g=4HE X244
13,000,000& 13,000
307 212+01™ 12,000 12,000
05 QIZtRIEr S 12,000 12,000
Ooti=sg=s4dE 2HI(KHA)
12,000,000& 12,000
=255 0tLUsH 29 56,712 55,1H4 1,518
| 28,356
Al 28,356
307 212+01 A 56,712 55,1H4 1,518




FA OEES A
oM - OIS =X 52
el 2t Y |4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 28,35
Al 28,356
11 AMEISXAEEES 56,712 55,194 1,518
O8sS=E0L=H 2¢ X&
56,712,000& 56,712
Il 28,356
Al 28,35
SSE0LISH SAHA =€ 2,040 2,040
307 @I2to| & 2,040 2,040
10 Al SXAEEE 22X 2,040 2,040
OTESO0ILSH SAX X2
130,000& x 1= 123 1,560
OBSSO0ILESE SAR M2
40,0002 x 12 x 122 480
CrEshts Xid 24,980 24,980 0
Al 8,000
- 16,980
201 etz 3| 980 980
01 AtR2te|HI 980 980
Ot=2IEXE s sl & A
70,0008 7 H =23 980
307 elztol & 24,000 24,000 0
Al 8,000
- 16,000
11 MEISXAIEEXS 24,000 24,000 0
O=+ UIsHE stesite
8,000,000& 8,000
OUESIHE AlRIRS & ZI|IEEHAE X
el 10,000,000& 10,000
Al 5,000
- 5,000
OU2HE u= 6,000,000& 6,000
Al 3,000
- 3,000
O2aIE(ZMEEIE) IHH 328 X 10,000 0 10,000
Al 10,000
307 elztol & 10,000 0 10,000
Al 10,000
1 AR SXAIEE X 10,000 0 10,000
OU2aIE(ZNZEE) 32 N
10,000,000 10,000
Al 10,000
JIEHE 29 638,490 265,140 373,350
Jl 319,245




2A:

M o4 - I01E 88X X
el 2t Y |4 (Gt H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 159,623
- 159,622
307 212+01 A 638,490 265,140 373,350
| 319,245
Al 159,623
- 159,622
10 IS SXAIEHE2ZHIER 638,490 265,140 373,350
OJI=4H 22 633,490,000& 638,490
| 319,245
Al 159,623
- 159,622
NEHEH SAHR =5 10,200 10,200 0
Al 5,100
- 5,100
307 2I2+01A 10,200 10,200 0
Al 5,100
- 5,100
10 Al SXAEHE2EHIEX 10,200 10,200 0
OJI=HIEH SAHA HSIH&H]
130,000 x5 » 123 7,800
Al 3,900
= 3,900
OINEME SAX HZHAE
40,0003 =5F 123 2,400
Al 1,200
- 1,200
Ch23t E3tat 323,357 303,086 20,271
J| 161,679
Al 80,839
- 80,839
307 212+01 A 323,357 303,086 20,271
| 161,679
Al 80,839
- 80,839
11 Al SXAMEE X 323,357 303,086 20,271
OCr23ts Y2usAdlA K&
173,737,000& 173,737
| 86,869
Al 43,434
- 43,434
OZE0I8IX SHIAMEIA KR
35,900,000& 35,900
| 17,950
Al 8,975




A IE=SAH
Hu: ofM -0l =X =2
el At e |4 EER=E)
SA - ZB . 9(BH) - HRAY ol b e HlmS2
- 8,975
Ot=23stot Y E X
78,683,000& 78,6838
| 39,344
Al 19,672
2 19,672
OUIETTVISIETEJEST
35,082,000 35,032
| 17,516
Al 8,758
- 8,758
Ct23t SStAIES SALAL =2 8,160 8,160 0
307 QIZ2t01 A 8,160 8,160
10 IS SXAIEHE2ZHIEX 8,160 8,160
OUE3t E3AHE SALL MM ALI
130, 0002542+ 128 6.240
OCH23 SSAIYS BAN X2+
40,0002 x4+ 12& 1,920
ZE0|2IA H22 K& 20,000 24,500 24,500
| 10,000
Al 5,000
- 5,000
307 QI2Hol 20,000 24,500 24,500
J| 10,000
Al 5,000
- 5,000
11 Al SXAMEES 20,000 24,500 24,500
OZ=0I2X dgk2dst XA
20,000,000 20,000
J| 10,000
Al 5,000
- 5,000
MBIEXIAE SAA XEE SXEIE K& 29,100 17,900 11,200
Al 29,100
307 212+01 A 29,100 17,900 11,200
Al 29,100
10 Al S XA EEHE2IHIE X 29,100 17,900 11,200
OAIBIEXIAIE SALL XEFE SKIEUE
X 29,100
Q3g~b4d &H 300,000& x21H*13] 6,300
Al 6,300
@54 ol& &2 400,000 57 H 13| 22,800
Al 22,800
MIZSXIAE SA XS SXZUE =t XA 10,200 10,000 200




FA OEES A
I oA - )

t
el H2E OHE =4 (EEEE))

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
307 212t01™ 10,200 10,000 200
10 Al SXAIEEHE 22X 10,200 10,000 200
OA}QlEXI/\I’é SAHL XEE SARUE
=Ib X1 (XEA) 200,000 +51& %13 10,200
SRS X 3,878,540 4,333,728 A\455,188
Il 2,389,232
Al 1,043,308
- 446,000
SIREDIIEIHASHIS K& 2,956,800 3,378,478 N421,678
Il 2,365,440
Al 501,360
301 EetE2 N = 2,956,800 3,378,478 A421,678
Il 2,365,440
Al 591,360
01 Al EE AL S(FRDEXHA) 2,956,800 3,378,478 A421,678
O8R2I1E ots¢=H| X2
200,000 %1, 150 * 122 2,760,000
J| 2,208,000
Al 552,000
OBERIIE EII0ISLH X8
132,000,000 132,000
Il 105,600
Al 26,400
OstRZ2IIE S10d 83| XI&
93,000 600 55,800
Il 44,640
Al 11,160
OBISDILE HERXZ X2
50,0002 x 15« 12& 9,000
Il 7,200
Al 1,800
HFAEERE LA 290,740 23,650 6,090
Il 23,792
Al 5,948
301 LEIE NS 29,740 23,650 6,090
Jl 23,792
Al 5,948
01 Al EE AT Z(ZRDEZMR) 29,740 23,650 6,090
OFAHERR Ols2=H X
150,0002 x 152 %122 27,000
Il 21,600
Al 5,400
OFE2HSR2 ZFH Al st&H XE
1,540,000& x1H 1,540
Il 1,232




SA: ==X
MM oA - IE =X S
ol SRt K& (EEEE))
SN - BH . S(B) - HPAR - BAS ol by e HDS2
Al 308
OHAESED XYEXLY X2
100, 0002 * 12 * 122 1,200
p] 960
Al 240
SR EILE X2 X 892,000 931,600 39,600
Al 446,000
- 446,000
301 YIS T2 892,000 931,600 £39,600
Al 446,000
- 446,000
02 ABIERE2H2(FUHS, XLW) 892,000 931,600 39,600
OB 2IIE JIAXIZH X
50,0002 *610% * 122! 366,000
Al 183,000
2 183,000
Os2 2= DIDMH X
516,000,000 516,000
Al 258,000
- 258,000
OSHE2IIE TAIKZ N
2,000, 0002 %5 10,000
Al 5,000
2 5,000
SOIIEET AL 2Y 1,155,589 1,122,843 32,746
9] 135,243
Al 1,018,246
2 2,100
BIEOIEZIAL 29 X 950,267 894,874 55,393
Al 950,267
307 0I2+0| & 950,267 894,874 55,393
Al 950,267
10 ABIZ XA LB 2HH 2 X 906,267 850,874 55,393
OSRDINESXIAIE 22| (3HA)
906,267,000 906,267
Al 906,267
11 A2 XA E X 44,000 44,000 0
OERIIEZXAIA EIAT HEHHZ X
& 3,000,000 «7Z 13 21,000
Al 21,000
OEQIIE=IAIL IIEXDT U X25|=
X2 23,000,000 23,000
Al 23,000
36,466 39,502 A3,0%

RIUIEZRIAIE YAT A -
o




FA OEES A
33 od - IJt=E SX 88
&2l SREIE=SNAE 29 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 18,233
Al 18,233
307 lztol & 36,466 39,502 23,036
Jl 18,233
Al 18,233
11 AMEISXAIEEXS 36,466 39,502 A3,036
OstRRIIESAAE 241 &8Xs N
36,466,000 36,466
Jl 18,233
Al 18,233
SIREIESXAE Ol0ISSAHIA XIE 132,588 111,696 20,892
7l 92,811
Al 39,777
307 elztol & 132,588 111,696 20,892
Il 92,811
Al 39,777
1 ABIZXIAEE 132,568 111,696 20,692
OB IIEZTIAL 0I0ISEAEIA X2
132,588,000 132,588
) 92,811
Al 39,777
SIRERIIE=SIANE JIsEH XE 19,938 58,702 A38,764
Jl 9,969
Al 9,969
402 QI2F X201 & 19,938 58,702 A38,764
Il 9,969
Al 9,969
02 QI X2 AL EE(0IETHE) 19,938 58,702 N\38,764
ORRIE=XANE JIs2Z N
19,938,000& 19,938
) 9,969
Al 9,969
SIRERIIE=SIIAE Ale 2 A& 16,330 18,069 A1,739
7l 14,230
- 2,100
301 LELEE S 16,330 18,069 A1,739
Jl 14,230
T 2,100
10 AR =22 16,330 18,069 A1,739
OAISReE 24 16,330
o2+ 12,000,000 12,000
) 12,000
OusHl s 1,030,000& 1,030
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oM - OIS =X 52
&2l SREIE=SNAE 29 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,030
(OFSEME= sl 1,200,000 1,200
Jl 1,200
OSAHI 2,100,000& 2,100
HEEH - 455 gAl 154,450 152,983 1,467
Jl 72,991
Al 78,579
- 2,880
JHEE =S Lokt 2l=H| XA 1,200 1,453 A253
Il 840
Al 360
301 EtE NS 1,200 1,453 A253
Jl 840
Al 360
01 AR 2EHSHS(RDNEXRTH) 1,200 1,453 A253
OJMEZY TahA 2l =4l 1,200,000& 1,200
Il 840
Al 360
428 o454 28 142,022 139,152 2,870
) 71,011
Al 71,011
307 @201 & 142,022 139,152 2,870
Il 71,011
Al 71,011
10 Al SXA2EE 22X 142,022 139,152 2,870
Og==4gA 24| 142,022,000 142,022
Jl 71,011
Al 71,011
SEZANEA Fot X 9,600 9,600 0
Al 6,720
- 2,880
307 el2to| & 9,600 9,600 0
Al 6,720
- 2,880
10 AlISXAIZEHE 22X 9,600 9,600 0
O&Z54EA SAEL XM2H4H]
160,000 x4 x 122 7,680
Al 5,376
- 2,304
Og =S4 SAL IH=E
40,0002 x4+ 122 1,920
Al 1,344
- 576




A JEE=SX0
¥ oy - J1E =X B&A

Rl JHEEY - 425 YA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S=< UlohA+ 22| - 2HEH| X1 1,628 2,778 AT1,180

Jl 1,140
Al 488
301 EtE N = 500 1,000 A500
) 350
Al 150
01 Al EE A S (2 RNEXMA) 500 1,000 A500
O&== Uikt 2= 500,000 500
Il 350
Al 150
307 elztol & 1,128 1,778 AB50
7l 790
Al 338
11 AMEISXAEEXS 1,128 1,778 2650
Od=8 Uoalkt 2 =H] 700,000 700
Jl 490
Al 210
O&=3 Ulolikt 2+EH] 428,000& 428
Il 300
Al 128
S4taEe K& 2,333,700 2,851,000 A517,300
= 1,238,360
Al 215,920
- 879,420
SAXIA (XEA) 660,500 545,000 115,500
301 22N = 660,500 545,000 115,500
03 A 2E A4S (XL THH) 660,500 545,000 115,500
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HEZ0He! S4HHIE X3 4,800 7,000 2,200
= 3,360
Al 720
- 720
301 22N = 4,800 7,000 22,200
= 3,360
Al 720
- 720
01 ARRI2HHSHS(SDERTHE) 4,800 7,000 A2,200
OWd &l sLtHlE X
4,800,000 4,800
= 3,360
Al 720
- 720
ZOHeIOHY SLHXIE 9,700 12,000 A2,300
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2A:

==X

M HAE AMEEE s B2 XH
ol Fad AE8 =4 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 551,209 528,575 22,634
05 QIZtRIELZ 551,209 528,575 22,634
OEPHAUSSOT 29
33,265, 0002 33,265
OMYELERSAY 2
215,944,000& 215,944
405 RHaHE S| 3,000 3,000
02 SN 3,000 3,000
OEAE259E TA 72
3,000,000& 3,000
HAEYNS0PHHI0 29 197,018 178,222 18,79%6
J| 98,509
Al 49,255
- 49,254
307 212+01 A 197,018 178,222 18,79%6
| 98,509
Al 49,255
- 49,254
05 CIZtAEr 2 197,018 178,222 18,7%6
OFAFYUZ0ot0l 29
197,018,000& 197,018
| 98,509
Al 49,255
- 49,254
HAEXI S AP BHXIAFS 50,736 48,816 1,920
| 25,368
Al 12,684
- 12,684
307 QIZ2t01 A 50,736 48,816 1,920
| 25,368
Al 12,684
- 12,684
05 QIZtRIErZ 50,736 48,816 1,920
O&EAEXIE AL BHXI XA 50,736,000& 50,736
| 25,368
Al 12,684
- 12,684
HAEAROIY T2 29 16,000 12,000 4,000
307 212+01™ 16,000 12,000 4,000
05 IZteEe g 16,000 12,000 4,000
OFEAEESE T2 29
8,000,000 *27H 2~ 16,000
HFAE2IGRRE 23X 3,000 4,000 21,000
Al 500
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OFLEH2IRIRE 22 3,000,000& 3,000
Al 500
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- 5,271
01 AISIBE XS (2 UETME) 35,142 35,142
S8R A8 XJAY
35, 142,000& 35,142
| 24,600
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- 5,271
Fad 84 X2 34,094 8,880 25,214
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22X JIIESX
HH: HAW ATWERES 9I8 BATH
ce. HAYE HE §H c
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
J| 56,414
Al 56,413
HAEZEXRAIE HIHAH] K& 6,120 6,120 0
Al 3,060
- 3,060
307 CIZ2tOIM 6,120 6,120 0
Al 3,060
- 3,060
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-+ 3,060
FAEI=X2ALE JIsEZ Xd 3,000 0 3,000
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Al 5,000
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SN FESXD
FH: Dot EsKA
=Rl Ol SESAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OotsstdgEes SEY2FY|
50,0002 x8& * 12 4,800
308 AHXIEMSOIE 2,500 2,500
18 SIS0t AS A 2,500 2,500
OOtssith Kl HA = 21 82
2,500,000& %12 2,500
OISESdERE A 5,000 5,000 0
= 4,000
Al 500
- 500
201 et 3| 2,410 2,160 250
[ 1,928
Al 241
- 241
01 AtR2t2|HI 1,960 1,680 280
OANMZESIRS W ARSI} A S
70,0002 x4H 73] 1,960
[ 1,568
Al 196
- 196
02 S3=gHl 450 480 A30
OISESHERE SSFEUE AMEE
37,5002 *1CH+ 122 450
[ 360
Al 45
- 45
202 04| 840 960 A120
[ 672
Al 84
- 84
01 2L AL 840 960 A120
ET0Hl & =8 70,0002 122 840
[ 672
Al 84
- 84
301 EtE2 NS 1,750 1,880 A130
[ 1,400
Al 175
- 175
01 Al EE A S (2 REXMR) 1,750 1,880 A130
OOtSESAHIA At 23|
1,750,000 1,750
[ 1,400
Al 175




SN FESXD
FH: Dot EsKA
=Rl Ol SESAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 175
d20ts2=H A& 48,000 4,500 43,500
= 33,600
Al 14,400
301 2eEN= 48,000 4,500 43,500
= 33,600
Al 14,400
01 A2 HSHS(RNEERTH) 48,000 4,500 43,500
Od=20tsEsH| X 48,000,000 48,000
= 33,600
Al 14,400
Or=sE378l Xz 1,500 1,000 500
= 1,050
Al 450
301 EtE NS 1,500 1,000 500
= 1,050
Al 450
01 AR 2EHSHS(RDNEXRTHE) 1,500 1,000 500
O0lE8ETYY| Xg
1,500,000& «1H 1,500
= 1,050
Al 450
fI0ts JHEES M20ts2SH| XIA(AlH]) 3,000 6,000 /3,000
Al 3,000
301 EtE NS 3,000 6,000 23,000
Al 3,000
02 ANRI2HHSFS(HAAS, NLHE) 3,000 6,000 23,000
OfIots JHEES dEZ0ts2SHI(AHI)
250,000 x1H*123= 3,000
Al 3,000
JHEAS0tEs X 310,060 234,060 76,000
Al 277,570
- 32,490
301 22N = 310,060 234,060 76,000
Al 217,570
T 32,490
02 MBI 2HHSFHS(HAANS, XLHE) 310,060 234,060 76,000
OgdsEEx3 420,000 #43H <122 216,720
Al 216,720
Osts2xH] 2,370,000& ~12& 28,440
Al 14,220
T 14,220




A JEE=SX0
M I0ts EsKE

&2l OtEESAY (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2sE=0ts NEHEAS
10,000, 000& x6H 50,000
Al 35,000
- 15,000
O=&32l 34| 900,000 %12 900
Al 630
- 270
Otfst&stots st 5,000,000& »2H 10,000
Al 7,000
- 3,000
OltsE=7tl 1,000,000 x4 4,000
Al 4,000
2550 MNEsE 102,000 120,000 18,000
= 81,600
Al 10,200
- 10,200
301 LEIE NS 102,000 120,000 18,000
= 81,600
Al 10,200
- 10,200
01 Al 2E AL S(SREXME) 102,000 120,000 18,000
ORSER0IE e+
340,000 x25E « 12 102,000
= 81,600
Al 10,200
- 10,200
LAOLSIHERHA 88,3% 119,824 A31,430
Jl 61,875
Al 26,519
301 EtE NS 88,3%4 119,824 A31,430
Jl 61,875
Al 26,519
01 Al EE AT Z(2DEXR) 88,3% 119,824 A31,430
gAots d=8 74,400,000 74,400
) 52,080
Al 22,320
Og=e{II2t LA 840,000& 840
2l 588
Al 252
O ots s+ 8,162,000& 8,162
Jl 5,713
Al 2,449
OogHIE X 2,992,000 12 2,992




2A:

FH: Dot EsKA
&2l OtEESAY (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Il 2,094
Al 898
OULOIE YAETIS
2,000,000& %12 2,000
Il 1,400
Al 600
tHa0ls 25H| K& A 12,000 12,000 0
= 8,400
Al 3,600
301 LEIE NS 12,000 12,000 0
= 8,400
Al 3,600
01 Al EE AT Z(ZRDEZMR) 12,000 12,000 0
OALTHAOIE 25H|
1,000,000 x1&* 12 12,000
= 8,400
Al 3,600
2 - JIEREOIS HelXzAE 3,420 6,600 A3,180
= 2,3%
Al 512
- 512
301 2N = 3,420 6,600 23,180
= 2,3%
Al 512
- 512
01 Al EE AT Z(2RDEXR) 3,420 6,600 3,180
Og - JIERIEOls Aelxlg I
95,0002 +x3& *123] 3,420
= 2,3%
Al 512
- 512
sttHulahotsd s A& 247,894 237,182 10,712
= 99,156
Al 148,738
307 @120l & 247,894 237,182 10,712
= 99,156
Al 148,738
10 Al SXAZEHE2EHI2x 247,894 237,182 10,712
Osttiulsiotsd e 2gd N2
247,894,000 * 104 2~ 247,894
= 99,156
Al 148,738
SIHLIoHOtSEE SAA=E XI& 15,120 15,120 0
Al 7,560




2A:

E M

&2l OtEESAY (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 7,560
307 212+01™ 15,120 15,120 0
Al 7,560
- 7,560
10 Al = XA EHE2FHIE X 15,120 15,120 0
Osttiulaiotsa s SAtA =Y
15,120,000 x 10 2 15,120
Al 7,560
- 7,560
Ots A4 9 28 24X K& 1,000 1,000 0
201 B2 AY| 1,000 1,000
01 At=R2teld| 600 600
Otz ME S 5002 *1,2000H 600
2 S=29| 400 400 0
O & &€= S 400,000& 400
25 XN 51,954,466 49,903,117 2,051,349
= 26,076,525
Al 19,613,997
- 6,263,944
S=AS 51,954,466 49,903,117 2,051,349
= 26,076,525
Al 19,613,997
- 6,263,944
02N B 15,071,200 15,071,200 0
= 11,303,400
Al 2,637,460
- 1,130,340
307 212+01™ 15,071,200 15,071,200 0
= 11,303,400
Al 2,637,460
- 1,130,340
05 QIZtRIEr S 15,071,200 15,071,200 0
O02M Esz 15,071,200,000& 15,071,200
= 11,303,400
Al 2,637,460
- 1,130,340
3BM BE=R 8,294,782 8,294,782 0
Al 8,294,782
307 212+01 A 8,294,782 8,294,782 0
Al 8,294,782
05 2IZteEe g 6,221,782 6,221,782 0
O35AM Ex2 6,221,782,000& 6,221,782
Al 6,221,782




FA OEES A
ZH: 95 K@
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 2,073,000 2,073,000 0
O3-5Ml Felitd 2&H|
2,073,000,000& 2,073,000
Al 2,073,000
Eed=s=¢ 1,099,380 1,099,380 0
= 824,535
Al 192,392
- 82,453
301 22N = 1,099,380 1,099,380 0
= 824,535
Al 192,392
- 82,453
01 Al 2E A S(FRNEXMA) 1,099,380 1,099,380 0
Orggs=¢ 1,099,380,000& 1,099,380
= 824,535
Al 192,392
- 82,453
2220 9,975,800 8,759,600 1,216,200
= 7,481,850
Al 1,745,765
- 748,185
301 EtE2 N = 9,711,600 8,759,600 952,000
= 7,283,700
Al 1,699,530
- 728,370
01 Al EEAHBZ(2DEEMR) 9,711,600 8,759,600 952,000
OR2s0 X& 9,711,600,000& 9,711,600
= 7,283,700
Al 1,699,530
- 728,370
307 elztol & 264,200 0 264,200
= 198,150
Al 46,235
- 19,815
05 2ItRIE =2 264,200 0 264,200
ORZs0 252 264,200,000 264,200
= 198,150
Al 46,235
- 19,815
A SE 2SXE 236,000 236,000 0
= 118,000
Al 82,600
- 35,400




FA OEES A
=LIRCE S
Sl 2RAIY (el @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 236,000 236,000 0
= 118,000
Al 82,600
- 35,400
05 2ItRIE = 236,000 236,000 0
OAlZNE=S K& 236,000,000 236,000
= 118,000
Al 82,600
- 35,400
HElold &=(23E ZUHESAHI0IE A=) 20,000 0 20,000
= 5,000
Al 2,500
- 12,500
201 et 3| 9,000 9,000
02 s3=gHl 6,000 6,000
OAlZ2e] 882 S
2,000,000 3 6.000
03 Ar=EHI 3,000 0 3,000
O=3E0&0ld WA
3,000,000 * 17 2~ 3,000
401 AIEHIX 20 1,000 1,000
03 AlZ = THHI 1,000 1,000
OANEEA =2 1,000,0002 19K 2 1,000
402 2I2E X201 & 10,000 0 10,000
= 5,000
Al 2,500
- 2,500
03 2IZ+LAEAIZYI 10,000 0 10,000
O=ZE0He0l& JIXtIHHI
10,000,000 * 10 2 10,000
= 5,000
Al 2,500
- 2,500
Oglold 2= (=38 B0y tHMA=R) 5,000 0 5,000
401 AlE2BIXL S THYI 5,000 5,000
01 Al&HI 5,000 5,000
(OFaE=PI=1 =] 5,000,000 5,000
olold JIse 38,000 38,000 0
= 19,000
Al 9,500
- 9,500
307 212+01& 8,000 8,000 0
= 4,000




FA OEES A
ZH: 95 K@
Rl EFAY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,000
T 2,000
11 AMEISXAEEES 8,000 8,000 0
OE=FXNAN0IE bl
8,000,000& 8,000
= 4,000
Al 2,000
- 2,000
401 Al HIZ 2018 30,000 30,000 0
= 15,000
Al 7,500
- 7,500
01 Al&H| 30,000 30,000 0
OO0IBI0I&E JHE=SAt 30,000,000& 30,000
= 15,000
Al 7,500
- 7,500
2=0ts & 712,800 887,136 A174,336
Al 356,400
- 366,400
307 elztol & 712,800 887,136 174,336
Al 366,400
- 366,400
05 212+ =S 711,600 881,418 169,818
OO0l 258 A XA
711,600,000& 711,600
Al 365,800
- 365,800
10 Al2ISTIAIEEE 22X 1,200 5,718 N4,518
OZlots 258 X2 1,200,000 1,200
Al 600
- 600
ool 2EXE 78,835 78,835 0
= 47,300
Al 22,074
T 9.461
307 elztol & 78,835 78,835 0
= 47,300
Al 22,074
- 9,461
10 Al2ISTIAIEEE 22X 4,800 4,800 0
OHOHOIE 2018018 X2
4,800,000 4,800
= 2,880




FA OEES A
M 2% K
&2l ESAIY (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 1,344
T 576
11 AR S XA E X 74,035 74,035 0
Ou M w-1H] 74,035,000& 74,035
= 44,420
Al 20,730
T 8,885
olold X 2,281,100 846,850 1,434,250
Al 1,733,470
- 547,630
307 gl2to| & 2,281,100 846,850 1,434,250
Al 1,733,470
- 547,630
10 MeISXAEHE2EHIEX 47,900 48,800 A900
Odittet] 47,900,000 47,900
Al 23,950
- 23,950
11 ARIZXAIE 2 X 2,233,200 798,050 1,435,150
O&tdl+&sl 102,000,000 102,000
Al 51,000
- 51,000
OZ &l 68,500,000& 68,500
Al 34,250
- 34,250
OO0lglold & - 2tAll| 324,000,000 324,000
Al 324,000
Ogrg 24| 302,300,000 302,300
Al 151,150
- 151,150
Os29g WAy X
1,436,400,000& 1,436,400
Al 1,149,120
- 287,280
SSE201E X 58,800 58,800 0
Al 35,400
- 23,400
307 212t01& 58,800 58,800 0
Al 35,400
- 23,400
10 AlRISTIAIEEE 22X 58,800 58,800 0
O338080ld u=satd bl
12,000,000 12,000
Al 12,000




2A: JIE=EX
Hu: 98 1
Rl EFAY EEED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O3380el0ld =eld elAy|
46,800,000 46,800
Al 23,400
- 23,400
=30 SGHI(NEAIY) 2,666 A2, 666 0
Al 829,546
- 113,120
307 QIZt01 A 2,666 A2, 666 0
Al 829,546
- 113,120
10 IS SXAIEHE2ZHIER 2,666 A2 ,666 0
O=38 Hel0ld 2ZHI(MEtAlY)
942,666,000 2,666
Al 829,546
- 113,120
SFNAA 1AHd] K& 4,750,000 4,750,000 0
= 2,850,000
Al 1,330,000
- 570,000
307 QI2Hol M 4,750,000 4,750,000 0
= 2,850,000
Al 1,330,000
- 570,000
10 Al SXAIEHE2ZHIEX 4,750,000 4,750,000 0
OF=2XENe 0l nd elAy|
4,750,000,000& 4,750,000
= 2,850,000
Al 1,330,000
- 570,000
EFnIAA HRHA K& 2,069,920 2,069,920 0
= 1,242,440
Al 578,992
- 248,488
307 212+01 A 2,069,920 2,069,920 0
= 1,242,440
Al 578,992
- 248,488
10 IS SXAIEHE2ZHIEX 2,069,920 2,069,920 0
OuAt 2283 &t
2,069,920,000& 2,089,920
= 1,242,440
Al 578,992
- 248,488
SXWAL, CHMIRAL K& 3,642,000 3,642,000 0




2A: JIE=EX
Hu: B8 K
Sl ZEAE (St ®2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 2,185,000
Al 1,020,200
- 436,800
307 212+01™ 3,642,000 3,642,000 0
= 2,185,000
Al 1,020,200
= 436,800
e NEEEEETEES 3,642,000 3,642,000 0
OORI0IE 2XWAF X8
2,802,000,000& 2,802,000
= 1,681,000
Al 785,000
- 336,000
OUXM A XI& 840,000,000& 840,000
= 504,000
Al 235,200
- 100,800
BEUANI HRJMH X2 (+=E S) 1,255,764 1,652,236 A396,472
Al 690,282
- 565,482
307 2I2+0l ™ 1,255,764 1,652,236 A396,472
Al 690,282
- 565,482
10 AISISXAIEHE2ZHIEX 1,205,764 1,652,236 AN3%6,472
OPQIABIDIXIZAIE HRIHA b 941,352
OY A WA HRI&H| 671,040,000& 671,040
Al 335,520
- 335,520
O0-2AI8t, ZOHOHEH WAF HIH&YI
225,912,000& 225,912
Al 112,956
- 112,956
ORA BII2ESL(BFAI)
44,400,000 44,400
Al 22,200
- 22,200
OEB=suAN ¥FE =X Z2IE
72,800,000& 72,800
Al 72,800
OESDIA Az9 o SEay
52,000,000 52,000
Al 52,000
O=3g - 82oel0|d HAES WA =
=4 146,880,000& 146,880
Al 73,440
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S JESXID
)

S SAES (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 22,484
202 04| 682 780 A8
01 =LHOHI 682 780 AR
O=el(t| 682,000& 682
203 HR=H] 1,000 730 270
03 A=A R =] 1,000 730 270
O=2AIH =& 1,000,000& 1,000
307 elztol & 40,000 25,000 15,000
02 2IZHBYAIHE & 25,000 10,000 15,000
ONBI0IEASSE HEI0lE &AL
25,000,000 25,000
1 AMISXAIEEX 15,000 15,000 0
OESWAE JEHS WF
5,000,000& 5,000
OgR0t N W= 2,000,000& 2,000
OUZtAHel0lEHASe| A
5,000,000& 5,000
OJENH0I A2 A
3,000,000& 3,000
U0l XY & EFNAY MM XS (XHAIY) 513,572 592,79 NT9,222
307 elztol & 513,572 592,74 NT9,222
10 Al SXAEEHE2EHI 22X 513,572 592,794 NNT9,222
OuAt FI12&5+E(RHHAY)
44,640,000& 44,640
ONgold B2+l
25,700,000 25,700
OZ2 22 & At Ex¢
4,000,000 4,000
Ozcl& ey 158,400,000 168,400
OuAL SEFJHHI 140,000,000 140,000
OO0glold 2 - 2HAHI 54,432,000& 54,432
O2& XMPIMEHI 86,400,000 86,400
otse =X & el sd 15,151,130 16,975,092 A823,962
= 8,789,900
= 688,711
Al 3,125,972
- 2,546,547
ors=Nsd 14,977,330 16,796,772 A\819,442
= 8,789,900
= 549,671
Al 3,108,592
T 2,529,167
OLSZEXAT MRS EX 660,797 204,000 456,797
= 462,558




FA OEES A
= Olsol =X ¥ Hel &
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 198,239
301 EtE NS 660,797 204,000 456,797
= 462,558
Al 198,239
01 Al E2E AL S(FRDEXMA) 660,797 204,000 456,797
OOLSZEXIAN T X
660,797,000& 660,797
= 462,558
Al 198,239
KNS 0tsHE 249l A& 132,600 132,600 0
= 66,300
Al 33,180
- 33,150
307 elztol & 132,600 132,600 0
= 66,300
Al 33,150
- 33,150
10 Al2IS XA EEE 22X 132,600 132,600 0
OJl=2=2gHl 121,200,000 121,200
= 60,600
Al 30,300
- 30,300
O=For2gdI(CHdle g el)
11,400,000 11,400
s 5,700
Al 2,850
- 2,850
KE0tsHE SAHAF e8] XI& 549,600 536,256 13,344
= 274,800
Al 137,400
- 137,400
307 21201 & 549,600 536,256 13,344
[ 274,800
Al 137,400
- 137,400
10 AlISXAAZEHE 22X 549,600 536,256 13,344
OXISOtSHE SAHAF 21248] XI&
5,725,000 «8 ) 2+ 123 549,600
[ 274,800
Al 137,400
- 137,400
AFotsdE FIt2Ed] X 99,240 91,240 8,000
Al 25,280
- 73,960




FA OEES A
Hu: olsol =X L Hel B
(s B0 == NS (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
307 212t01™ 91,240 91,240 0
Al 25,280
=] 65,960
10 MBI =X Al Z 2| 2 91,240 91,240 0
OXISOISHE T2 X2
2,000,000 +8IH A+ 13 16,000
Al 8,000
- 8,000
OXIS0tSHIE SAtA=E K&
4,040,000~ 16¥ 64,640
Al 12,480
T 52,160
OXNSOtSHE SAHA wsH| A&
1,000,000& %12 1,000
OXH0lsHE 532 A&
1,200,000 x87H 2 9,600
Al 4,800
- 4,800
402 2IF X201 & 8,000 8,000
01 QI 2 AL E (XM TH ) 8,000 8,000
OXE0tSHE 8IS+l X3
1,000,000+ A+12] 8,000
Sdg XNH0tsdH I 14,400 14,616 A216
[ 7,200
Al 3,600
- 3,600
307 el2to| & 14,400 14,616 A216
[ 7,200
Al 3,600
T 3,600
10 Al SXAIEEHE 22X 14,400 14,616 A216
OS4+25y FIHN
600,000 *2)H A+ 123] 14,400
= 7,200
Al 3,600
T 3,600
Ots=XIwAL TIHAXIR 183,355 151,715 31,640
= 91,537
Al 45,769
T 46,049
101 @124H| 183,075 161,435 31,640
= 91,537
Al 45,769
- 45,769




NES SRR L)
SA - ZE . BR(8) - HRAR - BES of v A 2
M JIZtHZ2 S E 183,075 161,435 31,640
OO0ts= XA 21 244| 183,075,000 183,075
= 91,537
Al 45,769
- 45,769
201 er23 | 280 280
01 At2teltl 280 280
OOtS= XN WAL HE dA=g
70,0002 x4 13 280
SHSsSHE 23 18,540 3,600 14,940
[ 9,000
Al 4,500
- 5,040
201 Zet=Ehl 540 540
01 At22te|Hl 490 490
OFALEHHAARIAE] Fa2Y
490,000 490
02 s3=gHl 50 0 50
OgxE HaSH 2/l 50,0002 0
307 glztol & 18,000 3,600 14,400
s 9,000
Al 4,500
- 4,500
10 Al2ISTIAEEE2HIEX 18,000 3,600 14,400
Ooten=sdeH23
1,500, 0002 *1JH 2=+ 123 18,000
= 9,000
Al 4,500
- 4,500
2l E=g=fall= eiFals] 111,668 53,040 58,628
= 55,834
Al 27,917
- 27,917
307 21201 & 111,668 53,040 58,628
[ 55,834
Al 27,917
- 27,917
10 Al SXAAEEHE 22X 111,668 53,040 58,628
OUigHss4H 22|
111,668,000& 111,668
[ 55,834
Al 27,917
- 27,917
SH=sdE SAL =¢ 8,080 8,080 0




FA OEES A
= olsol =X ¥ Mol =3
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,560
T 6,520
307 lztol & 8,080 8,080 0
Al 1,560
- 6.520
10 Al SXAAEEHE2EHI2x 8,080 8,080 0
(@]83=1y), F==—Full=RSEY Fala]
130,000 x2& * 123 3,120
Al 1,560
- 1,560
OUENSSHE SAL==Z(XHA)
4,960,000 4,960
CietSsdE &Xidl 70,000 0 70,000
= 45,000
Al 12,500
- 12,500
401 Al HIZL S 0HYI 50,000 0 50,000
s 25,000
Al 12,500
- 12,500
01 Al&HI 50,000 0 50,000
OtgnESsdy cl22e
50,000,000 * 11 2 50,000
= 25,000
Al 12,500
- 12,500
405 KHaHE SH 20,000 0 20,000
= 20,000
01 ML ESFSHI 20,000 0 20,000
OUigH=s4H JIXHHbI
20,000,000 *1IH 2 20,000
[ 20,000
Ots=g A& 10,400,178 12,480,000 A2,070,822
= 8,327,342
Al 1,457,285
- 624,551
301 EtE N = 10,409,178 12,480,000 A2,070,822
= 8,327,342
Al 1,457,285
- 624,551
01 AR 2EHSHS(RNEXRTH) 10,400,178 12,480,000 /2,070,822
Oots=¢ 10,409, 178,000 10,409,178
= 8,327,342
Al 1,457,285




FA OEES A
mE: 0lS9 =X ¥ He| B
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 624,551
FHS OlSXE 2,719,872 2,120,200 599,672
Al 1,161,392
- 1,558,480
301 2eEN= 2,176,947 1,637,600 539,347
Al 785,471
T 1,391,476
02 MBI 2HHSFHS(HAANS, XLHE) 2,176,947 1,637,600 539,347
2AM0IE AT (LEE F4)
1,047,294,000& 1,047,294
Al 785,471
= 261,823
OZA0IE BAXA(E - 2 - ZEY, WS
SEIAHHYS 1,129,653,000& 1,129,653
307 glztol & 542,925 482,600 60,325
Al 375,921
T 167,004
11 AMEISXAIEEE 542,925 482,600 60,325
OZAOIE SAXR(BY 44, YstE 4
) 501,228,000& 501,228
Al 375,921
= 125,307
OZA0LE SANA(E - 2 - BHY, DS
SEIANTYS) 41,697,000 41,697
XEY OISSEAHIA NE 173,800 178,320 A4,520
= 139,040
Al 17,380
- 17,380
FHAASE OtsSEAEIA X2 173,800 178,320 A4,520
= 139,040
Al 17,380
- 17,380
201 fet=3| 56,835 58,530 1,695
[ 45,471
Al 5,682
- 5,682
01 AtR2t2lHI 26,096 25,070 1,026
Ogit=ZHI(EEE 3) 11,226,000& 11,226
[ 8,980
Al 1,123
- 1,123
OEHAERE Jl=22] 2,642,000& 2,642
[ 2,114
Al 264




A IE=SAH

M Ot=2 =X & #Hel &

o9l B OISESMHIA XIR (chel: &
(=] X ZH Cl2l( S (=) N2 OH @l‘—jE =2}

OO0t SEAtelZ2IAL TI=HI
100,000 4 & *12]

OO0t=SEAtellZ2AL 2

1 =H|

400,0003 x3E x22]

o2+
OSYAEIE 2YRS B4 45

70,0003 *12Z 12

OOIE=XDIZEAM &A +g
70,00024%724#43]
OCRIAEIE ATHIT &4 4g

70,0008 x1H 43

O™ AEE DIEH AAEY
70,0003 3 +12

OO0tSSEAtel22IAL S &I
8,000 x4 +541x 123

230,000 122

ORQFHIAIAHE FEE

121,500& « 122

"

Al

A

Al

&)

Al

=]

Al

"

Al

&Y

Al

&Y

Al

=Y

Al

264

400
320

2,400
1,920
240
240
3,290

840
672

—

,960
,568
196
1%

e

280
224
28
28

210
168
21
21

—_

,920
,5638
191
191

—_

2,760
2,208
276
276

1,458
1,166
146




2N IE=T D
H: Orso =X ¥ Hel EX
C9l: UES OISSBAHIA XIS (12l M2

K- B3 - S9(31H) - HISAY - BAS Oﬁfﬂ% HRE2
- 146
02 852494l 6,739 8,460 A1,721
0222 ¢ 6,253
OZBEUIE Al
77, 7503 x4 x 128 3,732
rag 2,986
Al 373
- 373
oNVsH&EZ 12,000& =128 144
rag 116
Al 14
- 14
oMIIR2 190,000 * 12& 2,280
g 1,824
Al 228
- 228
OYXS HHA
97,000& 13| 97
ray 79
Al 9
- 9
OAIZ R XIH| 486
OCEAEE SEHEEAAE 2XIH|
486,000& %13 486
g 388
Al 49
-+ 49
03 HAIZHHI 24,000 25,000 A 1,000
QEEAERIE T2
24,000,000 24,000
g 19,200
Al 2,400
- 2,400
202 04| 2,76 1,800 956
g 2,200
Al 278
- 278
01 =ZLHM Y| 2,756 1,800 956
O=ZUHY] 2,756
ous ¢ 2,7%6,000& 2,756
g 2,200
Al 278
- 278
203 YR =ZIH| 439 450 A1




FA OEES A
= olsol =X ¥ Mol =3
ol WEE OlSEFAHIA N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 351
Al 4
2 44
03 A= PR FZI| 439 450 A1
OFQAIMFZ 439,000& 439
[ 351
Al 4
S 4
301 LEtE NS 113,770 115,540 A1,770
[ 91,018
Al 11,376
- 11,376
01 Al EE A S (2 RDEXA) 113,043 114,790 A1, 747
OSEAEE T4, ABEAHIA 2
113,043,000& 113,043
[ 90,435
Al 11,304
- 11,304
11 #AIAHIXIE = 194 200 NG
OXESALA #SHl 194,000 194
[ 156
Al 19
- 19
14 0Bt 2a3 533 550 A7
Oo0ts & dollxl=d| 533,000& 533
[ 427
Al 53
- 53
HY2HHHI(OIE=R) 212,240 231,982 N19,742
o2 (OIE=AL) 141,200 148,570 27,370
A2 (OIE=AL) 141,200 148,570 27,370
101 @124H| 141,200 148,570 AT,370
01 &= 141,200 142,826 1,626
Oz=22=¢ 141,200
oA 2ReY
12,5312 x25& x35A1 2+ 122 131,576
OAIZIRIZ2Z (0SS AL
12,5313 %2 +32A1 2t 123 9,624
J1=22HI(OtE=X1 71,040 83,412 A12,372
Jl=3H] 71,040 83,412 A12,372
201 er23| 29,280 29,172 108
01 At2teltl 29,280 29,172 108
OJlEZAte 2] 21,0002 ~262+ 122 6,552




2A: JIE=EX
BH: WN2AAY| (OIS=RDH)
SRl J12FHI(OIEER) (CH9: /M)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O=gt| 19,968
E2=4H] 8,000 x26F+8AIx 12& 19,968
Odxt=z 2,760
O=AD| Xtz 230,000 x1CH* 123 2,760
202 0idl 37,440 49,920 212,480
01 =WHO4LI 37,440 49,920 A 12,480
OZLH0oYI 20,0003 x26H x62 12 37,440
203 YR=&IH| 4,320 4,320
M4 MBI HRFA| 4,320 4,320
OJIZEAH(30H0latH) 400,000 12 *90% 4,320




